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fon exchange resin process for softening

water
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Fullerene, 1ts properties and uses.

(iv) HHeArsz, 39ET fAuior, 7ot a3 s

Bakelite, its preparation, properties and

uses. 4x3
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Question No. 1 is compulsory, answer any Five
questions from the remaining.
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Solve all parts of a question consecutively
tapether.

F A &1 94 g & SR #iag |

Start each question on fresh page.
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Only English version is valid in case of
difference in both the languages.
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Which electronic configuration of mitrogen
is correct 7

(a) 11 11 [1i]1
or

w [l e
Give reasons.

wifsan 1 gaw sEas fava gEieEs & ge
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Explain why first lonisation potential of
sodium is less than the first lonisation
potential of magnesium where as the second
ionisation potential of sodium is higher than
second 10nisation polential of magnesium.,

oAq 3 e # sWT ISR dER
THFE |

Explain the difference between calcination
and roasting with a suitable example.

N
Tooo NaOH f&ere % pH = s &1 |

Find the pH value of lg)ﬂ solution of
NaOH.
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Why and how cracking of hydrocarbon s

done ? 2x8
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ar & wo] d@ee & faera w5 frwerand
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Write the postulates of Bohr's theory and
accordingly discuss the structure of atom.
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Establhish that degree of iomisation of a weuak
clectrolyte is proportional to the square rool
of its dilution.
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On moving from left to nght in a period, the
ionisation potential usually increases, but
the iomisation potential of B is less than that

of Be and LP. of O is less than that of N.
Explain it. 4x3
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Explain the dewviation of real gases from
ideal gas laws and establish Vander Waal's
cquation. ' 6
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Write the percentage of main compounds
present in cement. Write the chemical
reactions taking place during its setting and

hardening. 6

e 8 w2d ¢ 7 wied § Aetatad 1on
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What is a lubricant 7 Explain following
propertics of a lubnicant :
(a) femvan

Oiliness
(b) VAT UH $AAT VTR

Viscosity and viscosity index
(cy 3

Acid value 4
rdE e f@d wed # 7 e uw Fhm
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What are abrasives ? Write the preparation

and uses of any one artificial abrastve. 4
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(i) fFA=fatga 9fet & JUPAC am fatad
(2 9W) :
Write TUPAC names of the following

compounds (any four) :
(a) CH,— CH,— CH,
. 2 e

CH, — CH - CH,

(b) H,C=CH—C=C--CH,

(¢c) CH,—C — CH,
B |
0 Cl
0

(d) CH,- (l" CH, — CH, — OH

{THj'
{e) C'H,'— C —CH=CH, 4
= ¢ )
(‘[I3
aifiqrer oot ferfiat (a8 o)

Write notes on (any three) -
(i) HyeNd gZiet

Synthetic Petrol
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